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Note: The answer is for reference only, you need to understand all question. 

 

QUESTION 1 

Which of the following is the maximum bus speed for Ultra2 Wide SCSI? 

 

A. 10 MB/sec 

B. 20 MB/sec 

C. 80 MB/sec 

D. 160 MB/sec 

E. 40 MB/sec 

 

Answer: C 

 

 

QUESTION 2 

A server manager logs into a server with his administrator account and installs a third-party diagnostic tool. No 

installation problems are encountered. Upon starting the tool for the first time, an error code is displayed that is 

difficult to understand. The manager attempts to reinstall the tool, but receives the same error. Which of the 

following is the MOST appropriate step to take to resolve the problem? 

 

A. review the server performance logs for an easier-to-interpret error code 

B. search the network operating system's support website for the specific error code 

C. install the latest network operating system service patch to correct recently identified bugs 

D. review the application documentation 

 

Answer: D 

 

 

QUESTION 3 

Why is it important to document network architecture, hardware, protocols, naming standards, and upgrades? 

 

A. to help network users better understand network functionality 

B. to provide end users with information on network security 

C. to enable easier troubleshooting in case of network problems 

D. for legal purposes, such as an internal audit 

 

Answer: C 

 

 

QUESTION 4 

A new application is installed on a company server. Which action should be taken after the application is 
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installed and fully functional? 

 

A. Nothing further is required. 

B. The new application should be benchmarked. 

C. An installation log file should be printed. 

D. A new server baseline should be created. 

 

Answer: D 

 

 

QUESTION 5 

How can the telnet client in Windows 2000 Server be started? 

 

A. Select> Start> Programs> Accessories> Communications> Telnet 

B. type telnet at a command prompt 

C. obtain a copy of the Telnet.exe file from a Windows NT Server, rename it to Telnet32.exe, and then copy it 

to the Windows 2000-based server 

D. Select> Start> Programs> Accessories> Communications> Hyperterminal 

 

Answer: B 

 

 

QUESTION 6 

A UPS (Uninterruptible Power Supply) is being selected for a remote office. The correct size UPS 

(Uninterruptible Power Supply) needs to be determined. Which formula should be used to determine the load 

requirements? 

 

A. Watts = Current X Voltage 

B. VA = Volts x Amperes 

C. VA = kW x 1000 x Amperes 

D. kVA = Volts x Amperes 

 

Answer: B 

 

 

QUESTION 7 

A server NIC appears to be causing a network broadcast storm. Which tool BEST confirms the source of the 

problem? 

 

A. LAN analyzer 

B. cable tester 

C.SNMP (Simple Network Management Protocol)
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D.Performance Monitor 

 

Answer: A 

 

 

QUESTION 8 

A biometric access device is used with which security method? 

 

A. qualification 

B. authentication 

C. authorization 

D. accountability 

 

Answer: B 

 

 

QUESTION 9 

Which two are the BEST times to collect server baselines? (Select TWO) 

 

A. in the morning during normal working hours 

B. on the weekend when doing server maintenance 

C. in the evening during non-business hours 

D. in the afternoon during normal working hours 

 

Answer: AD 

 

 

QUESTION 10 

A system administrator wants to remotely administer a server using a Web browser-based application so he 

can administer remotely from any operating system. He wants to ensure that the communication is secure and 

that only he can log in to the server. Which three actions must the administrator take before he can administer 

the server? (Select THREE) 

 

A. use smartcard authentication 

B. install and run the WWW service 

C. use the HTTP over SSL protocol 

D. use the L2TP over IPSec encryption protocol 

E. install a X.509 compliant server 

 

Answer: BCE 
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